
　No. 1 /4
212-1432850 212-1432860

●
● ●
※

■

● 　〔 〕 〔 〕 ： （ ： ）
●

▼

-
：07725-0030000

　♯ 30/24mm ：674-1432900
：674-0510900
：674-0500910

　30mm ：674-0500130
：07631-0010000
：07749-0010000

 　52 × 55mm ：07746-0010400
　22mm ：07746-0041000

：674-1432700

：0900-969-00100
　KC-167 ：0900-969-00020

　1215/1207B 

（ ） （ ）

●

●
●

※

！

E TOＰ

A

（Camshaft） （Cam chain tensioner）

Ｂ

ＤＣ

（Valve/Valve guide）

（Piston/Piston pin）

Ｇ

Ｇ

Ｇ：
Ｈ

F

（Cylinder I.D.） （Crankshaft）

I

K
L

J

45 25

120

（mm） mm

A IN 33.47 ～ 33.71 33.22
EX 33.32 ～ 33.56 32.97

- IN 0.10 ± 0.02 -
- EX 0.17 ± 0.02 -

B IN 4.975 ～ 4.990 4.965
EX 4.955 ～ 4.970 4.945

C IN/EX 5.000 ～ 5.012 5.04
D IN/EX 1.0 1.5
E 11.985 ～ 12.000 11.94
- 111.3 109
F 60.010 ～ 60.030 60.060
G 59.980 ～ 59.990 59.95 （ ）
H 13.002 ～ 13.010 13.020
I 12.994 ～ 13.000 12.98
J 0.10 ～ 0.35 0.5
K 0.006 ～ 0.020 0.05
L 13.010 ～ 13.028 13.05
M - TIR0.10

！ 

-
763-0500900
403-1432100

（JC75/JB02） 403-1300100

-

307-1432500 6 
　 -

5w40 1L
10W50 1L



212-1432850 212-1432860

212-1432850 212-1432860

A 313-1432750 x1 -
313-1432760 - x1

A1 x1 -
- - x1

A2 φ 30 302-1432601 x1 x1
A3 φ 24.5 302-1432602 x1 x1
A4 303-1128512 x4 x4
A5 303-1432510 x2 x2
A6 303-1432000 x2 x2
A7 303-1432504 x2 x2
A8 303-1128511 x2 x2

B1  310-1432700 - x1
310-1432710 x1 -

B2 300-1432700 x1 x1
B3 　90L - x1 x1
B4 303-1013711 x2 x2 9.0N・m
B5 （ ） 025-015-0240000 x1 x1 9.0N・m（ ）
B6 （ ） 751-0500110 x1 x1
B7 674-0400900 x1 x1
C 350-1432800 x1 x1
C1 φ 63 351-1432800 x1 x1
C2 φ 63 　（0.8-0.8-1.5） 352-0006630 x1 x1
C3  13 × 40 353-0001340 x1 x1
C4  13mm 354-0000130 x2 x2
C5 　（φ 63） 961-1432320 x1 x1
C6 962-1432300 x1 x1

D1 φ 63 （ ） 311-1444260 - x1
311-1444250 x1 -

D2 　10mm 771-0500999 x4 x4

D3 （ ）T4 771-9000450 x1 - T4/28.5mm
（ ）T4 771-9000460 - x1

D4 771-0900900 x2 x2 15N・m
E - OP OP （ ）
F EX 　（H-06） 70-963-11006 x1 x1
G 　M8X210 303-1432520 x2 x2 11N・m
H1 309-1432100 x1 x1
H2 ♯ 63/22X 315-1413010 x2 x2
I1 R 70-966-14324 x1 x1
I2 L 70-966-14325 x1 x1

C5

C6
D2D3D4

C4

【6】→【1】
【1】→【6】

【3】

【4】
【2】

：

N4

N7

N1

N2

N6

N5

■

A1

A2A8A7A6A5A4

A8
A7

A6
A5

A4

A3

B2

B1

B4

B4

B3

D1

C1

B5

C3

B7

【5】

【6】

N13

N13

N14
N12

E

F

G

G

N9

C2

B6

N8

N12
N11

※

N10

N15

N15

グリス
OＰ1

N3

（M8×203ｍ ｍ）
（ ↓）

N15

N15

IN

OUT

▼ （ ）
N・m

N1 　8mm 4 24
N2 　M6 × 90 2 12
N3 2 11
N4 　8mm 2 27
N5 　M6 × 20 2 12
N6 　M8 × 22 1 27
N7 　M6 × 12 1 12
N8 　M8 1 10
N9 　M6 × 30 1 12
N10 2 12
N11  M10 1 14.5
N12 　M6 × 14 2 12
N13 　M6 × 20 4 12
N14 O2 1 24.5
N15 L 　M8 × 203（ ） 2 11

　No. /4

※

【1】
-



212-1432850 212-1432860

▼ （ ）

N31 1
N32 1
N33 　8.8 × 1.9 1
N34 1
N35 1
N36 2
N37 1
N38 1
N39 1
N40 10 10 N・m
N41 1
N42 1
N43 　M6 × 60 11 12 N・m
N44 10 × 12 2
N45 4
N46 1
N47 1
N48 1
N49 1
N50 1
N51 1 12N・ｍ
N52 1
N53 1 10N・ｍ
N54  comp 1
N55 1
N56 　M6 × 16 2 10 N・m
N57 1
N58 1
N59  ASSY 1
N60 　M6 × 20 2 12 N・m
N61 　14.2 × 26 × 3 1
N62 1 64N・m
N63 1
N64 1
N65 1
N66 1
N67 1
N68 　4mm 1
N69 　4mm 1
N70 1
N71 1
N72 1
N73 1
N74 1
N75 　12 × 24 × 2.3 1
N76 　12mm 1 64N・m
N77 1
N78 　M6 × 28 2 10 N・m
N79 　M6 × 35 6 10 N・m

OP2

N31
N33

N32
N37

N35

N34

N36

N40

N43

N77

N79

N78

N73
N74

N76
N75

N45

N45

N70

N72
N71

N39

N36

N38

対角に数回
分ける

I2

OP5

N41

N63

N62
N60

N55

N61

N67

N69

N68

N66
N65

N64

N59

N58 N57

N56

N44

N44

N45

N45

N42N48

N50
N51

N52

N53

N54

N49

I1

OP5

H1

H2

OP4

※

B3

G

G

グリス
グリス

OP3

OP6N47

N46

OP1 （ ） 1
OP 2 Black 307-1432200 1 （Silver）307-1432210
OP3 307-1432500 1
OP 4 307-1452600 1
OP 5 305-1432200 1
OP6 331-1432000 1

　No. /4

※

　



212-1432850 212-1432860

〇

：8 .0 N・m 

： ・

（ ）

230526 M-T

※
●

1 2 3

・
30°

120°

※

2cm2cm

120°

120°120°

5

4

1

2

3

EX●
●
●

1 × 1
2/3 × 2
4 × 1
5 × 1

※

1 2 3

※

・

※

　No. /4

※

）

･

･
･

： Ｎ・


